EAGRAROBREERT — 2 N— ABISH —F 202077128 (H) 8mE{Z&E2H

1R B o ) ESRE R
[A&4£] 1 7% :600,000 3 ~ 23#%:180,000 3#&:96,000H ~ 43#&:48,000™ . 53 :36,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
T M :28. -5-3- . — AR (EB)
i NI # 5 o= 1(2_8)0 4-5-3-1 | 37.5 1 zzg)s 2a% =]
LikrTFOYY BVHFLIIES 24> T 1= K5
= 4 o4 | WO 1:28.0 8-8-5-2 |37.3| — 2 441 | REM (EH)
2 7| N7LITTAY— 56.0 (1NF) (o) | ) H. ?:—Tﬂz—&ay
L:7A7% B:YaA 4TIk F I NS
S A > 2ILEH : ~3-7- — MEBLF ((E%)
3 =B Pr - >4 2R 1.(25%.9 5-3-7-5 | 38.1 5 &3} EE i
LiXLTeH XX BNTIAY— e
= 0% RHEEC : —6-6- — FILES (E8)
4lglio| T TLEYIXVL H o4 eel 1.(229).3 3-6-6-6 | 38.7 4 (4+726) SuEZ
RV wT T4 L BFAILISR— 71 I L4
LA T H # 6 | ET 1:29.6 10-9-9-9 [38.2] — 7 497 | LB (ER)
5(7| 8| ¥ TIARISIN 56.0 (11/2) (-11) | TR
LTV A XTI R By YTNI RN T7— AT 77— L4
7 i 48 | R 1:29.6 7-7-8-7 | 38.7| — 9 464 | HHRE (£B)
6155 t’\—'j‘ 56.0 (74%) (-1) |BEERX
R:TFNTTY BiAUTIy b E e
s 6 | BERE 1:29.7 2-2-2-4 | 39.4| — 6 439 | REM (£H)
71719 THhTH~< 54.0 (7€) (o) |EIH—E8
LTRIAYIY IR B RA—bTT— HREAHIS
o > 7 | SHIEA 1:29.8 9-10-10-10 | 38.4 | — 8 457 | ALAIRRHL (1£%)
glali1| X"z r7=02 T g0 (1/2) Ca) |EAERZ
L:77NTZT B:T7vOY— J =Y Tr—L
s pe . . [T :29. -1-1- . — ABEK (EB)
9 6 LI 'S 56.0 . 17295? i R ° ;1_714) e+ .
LELFOYY B:YALALESR TR
s o /&4 :30. === . = THERE (E8)
10 o |1 ARL—O #H 6 JL 1%0)7 1-11-11-11 38.3 10 zg;; ﬂ#%ﬂ =
L:wy)gdyr B:vAxdxvV—T EvJiLy RT77—L4L
i s A 49 | Al 1:31.6 6-4-4-8 | 41.0| — 11 445 | FILEFE (EB)
1111 7v—741% 56.0 (5) (-g) |AELH
L:xrindaO— B:TUT1—XT7— EHHE
® 1 —F—EBIERL
13=7r= 6,9,10,4,3,1,5,7,11,8,2
23 =7= 6,9,3,1,4,10,5,7,8,11,2
BEE 6,9,4,1,7,10,3,5,8,11,2
40 —F— 4,7,6,9,3,10,5,1,8,11,2
[ N3
BB 4 230H 714K 4-7 160H e 4-6 170H 3JEHE 3-4-7 690M
8 B 4 1004 3-4 250M B = 4-7 280M K31 4-7-3 2,320H
7 130 3-7 40M| | B B 4-7 580M
3 150/

ARICOVWTRDTEEERROODE. TR LI,




